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Note : Four choices A, B, ¢, D to each question are given. Which choice is correct, fill that circle in front of that guestion number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

(w 15 ® 16

1 Petabyte is equal to

(&) (1026)° Byte 24 (1024)°
© (1024)5 Byte L(1024)5

How many STEPS are in Problem Solvmg

a 2 ® 3 (c) 4
The Recelver st be Capable cCe ling the
(A) Protocol _ J:( 9y ' gssage (e
(A) Gaius Julius ¥’ P4 uj ¢

(C) Pascal b’gf’ L

To save the HTML Page, we can use
(A) htm (B) xhtm

172.16.54.1 isan cxample of

(A) Protocol df!:/ (B) Domam u" 5

W) <body> ®

Makmg Illegal Coples of Soﬁware is called

L l,m_:u“uliu/u/(c.b‘ytpdy /uﬁl ) Jowt!rj . %1/Jrr

Ina____error,the solution is working but not giving required results * [ h

(A) Random Error 24/ r}z; (B) Logical Error 44! Jé’ 1] ‘\

(C) Syntax Error /4! u‘g‘{ ‘ (D) Runtime Error 2! r/' ¢ L'JJ :

Hexa_Decmalhave—‘__number; R wz—n/ e uﬁwj.,&: ,l (2) "
© 17 D 18

(® (1024)*B é%%;m)4

) (10

“Experience is the Teacher of All Things” who says this Quote *
(B) Adam Smith ¥ 54
(D) Charles Babbage K 5L e ,
e L LLIFIE HTML ,a‘l @
as File Extension * |

(C) xhtml

The clement is a Container for Metadata (data about data)

< hcad > (C)

(A) Hacking S (B) piracy U{/'l,; (C) Counterfeiting S JS?

<©><?’ e bngsl ——eme Akl B

wL (1024)6 |
L LA @

LH)‘!JGZ:Z—/JJ” ——— u»'(g)!‘/rlgl
(C) Address gfu_»l (D) Information _ IO

NS LECE

l

'!

(D) head
= c,dt»J ..... _172.16.54. 11 ®

l
i

(c) IPv4 Address J’ul IPv4 (D) DNS Juld; §

14.(»6%(/»!:_! (9)

<html >

<title> (D)
: :.C‘M P AR _,,L,. Cao

(D) Sabotage /6 7
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Note : It is compulsory to attempt (4 -- 4) parts each from Q.N».2 , Q.No.3 and Q.No.4 and attempt any (02) questions from
Part ll. Write same Quegtion No. and its Part No. as given in the Question Paper. gwpf_ ,'___)/4_/

24 = 2x12 | Make diagram where necessary. -uftr.f P (Part-1) Jjisn> \
Explain Problem Analysis. e § A () 240y
Write the name of any four Test Data types. ..J__( b’-.rl:z:rl)'l ' J;’/ d/ tioe (i)
What is Trace Table? P Y (1) ‘
Define the Candid Solution. -2{1:...&/ /‘7 d/ J }’5};_/ (iv)
Describe Hyperlink. Gkt Al A V)
Write the Output of following Code : : Ji"J <5 ¢.5TJ 1 St (vi)
< HTML >
< body >

<b>HeismySon</@<e/®
< / body > O%{&%O
<IHT%@

%>

Explain the Compound Proposition. @
Write the types of Computer Me: ©

el Fugg b () 34Jir
el gt sud (i)
ool el (i)

Explain the Binary System.

Convert (15610 intoHexadecimal. e uﬂd’-:)"f ks (156)10 (iv)

How can we avoid from Phishing Attack? WE L e B A (V)

Write the name of two types of Software Piracy. L3 § A e 3L (Vi)

Whatis FTP? s\ FTP (i) 4/ )
Explain Hardware Sharing. : S eolon§ EFE sk (i)

Define IPV6 Address. -q.’/ 7 SA/4 IPV6  (iii)

Explain the Routing Process. - Sealos Jf L B (iv)
Differentiate between Hyperlink and Anchor. ST Fr o BA (V)

How and why Webpage Image is Added? te Qb8 s 2P Bnr (VD)

16 = 2x8 (Part - ID) pgsaa>

(8) LS S I Ln S SIS L m g f P A BRI

Define an Algorithm and argue on its role and importance in problem solving.
(8) Explain the Components of Communication System. ..u.’/ ol J iz L ?Lm Ay ﬁ..f 6y
(8) R e sl setnf PS4 74U

What is Cyber Crime? Explain its any three types.
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Paper : I (Objective) 15t A, Exam. 2024 | GroupII |  (oogpe) I
Time : 15 Minutes SSC (Part ~ 1) wis 15
Marks : 10 Session (2022-24) & (2023-25) 10

@ LWl >~y

——

_b’n/r‘."wwlﬁuifjJ:—J!"U,;_/(//”-:aﬂd'._f/)(u;fbupcyug-q’)/:_&_bd/&&/A e

I3 e pusgndic s Lt /Q(Qmu‘,/u:’-’ .:/J).;Tf,«fﬁgf?-wé‘:Z,,JDthB A RIS & gud .

Note : Four choices 4, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or per to fill the circles, Cutting or filling two or more circles will result In zero mark in that question.

Which Symbol rep:resents the Copyright Protected Product : : c.df /lb f 2y L;f c._flJQb’ ../Uiu" f

w® ® © o oo -

In a Flow Chart Diamond Symbol represents : : q_d/ sl S aehs L S| 1Adr
(A) Input / Output 24257 /e o (B) Decision (§il- A& D
(C) Processing ..L‘:ﬂ_/,; (D) Connector /’é:/
In OR Operator P OR Qmay alsobewrittenss___ © : Ut& Jf - /PORQU 2T OR @
W Prq @ PQ © r=g ® P/Q _
Number “12”isequitlto ____in Binary System : P ebn /!/z: ..... “12” AU ("1 6A @
(A 1000 (® 1000 (O 1011 (D) 1100 A8y
: g;:w/'JJ’,J/fu;"a{. L& l‘_@‘-b/&ﬂd/agm 1Y ) — C
___ meansto test . the solution is actually solving the same rowhich it was designed :
(A) Clarification & iy 15 (B) Identi @ sl oy 547
(C) Verification ¢ “‘“M  )Vaimon ol _
URL stands for ____ OO i ebni# ¥ URL ®
(A) Uniform Residen ce Locator /%3 . 22, (iy  (B) Uniform Resource Locator Iy (e
(C) Unbalance Resource Locdtor | Y Uurd u“l" ¢ (D) Unethical Resource Locator M S J{’""l ol
Encoding of Datais an exampleof ____ * : c_dt‘/..fl J - (encoding) L34, UIJ gsl (6
(A)Patent & (B) Confidentiality U/l (C) Encryption §7 (D) Copyright A J¢
: LS e Bus A (é_é.uﬁ / R LA Lok 8 | D
On Webpage to give 1umber before start of Fruits name which Tag will be used :
(A) <tble> (B) <dt> (€ <ul> (D) <ol> -
3 c.t'b(f"/ ~-_--..swfé.l/../ n/S e Ll .ﬁu‘u’a.fu_tsj @
Routing is Process o f taking Data from one device and sending it to another device in different *
(A)Channel J¥ B Area Lo (ONetwork Ssss  (D)Path A
: 4.&%13%!4_’.[.&? L s et e B U L b @
Which of the follow ing Tag is used for the Least Important Heading :
W <h2> (B) <h3> (O <bs> (@) <h6> S
(1 0 |

6 B
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Note : it is compulsory to attempt (4 -- 4) parts each from Q.No.2, Q.No.3 and Q.No.4 and attempt any (02) questions from
Part ll. Write same Question No. and its Part No. as given in the Question Paper.
y CWps Yy

24 = 2x12 | Make diagram where necessary. -uft:o’: (f’ AU (Part - I) jal 4>
What is Defining the Problem? S ily L/c:,u..‘; Lk (i) 2/Jr
Why the Trace Table is used? ‘-‘{-Gﬂ Jeiud R (i)
Define the Candid Solution. PSS (i)
State the Test Data. : Ak b (iv)
Write the Output of given HTML Code : : u..“'ﬁ ..b.i:«)’TJ $/HTML i’c_‘.: v)
< P >1Iam Student < /P >
< P > I am Pakistani < /P > @

ﬁg@.&ww SEIE (vi)
@Oé& tednf G () 34U~
What do you know about Online Piracy? @%5 St /Qf & of'./'g Juul (i)
Convert (156)19 into Binary System. @ NP (& J¢ 7 (156)40 (iii)

<&

Explain the Singular Tags.

‘What is Counterfeiting?

Define “Bit.” ,, gl (iv)

Explain Commutative Law. Szl hp s (V)

What do you know by Logical Operators? S Lnl TS (vi)

What is Topology? el Gl () AU
Explain Point to Point Connection. s § A wtigdesy (i)

Explain IP Address. el oy TP (i)

Define the Sender. LSSl s (iv)

Write the Types of Listin HTML. U2 F ISe Ut HTML  (v)

What is meantby < P > Tag? fesl e <P > (Vi)

16 = 2x8 (Part - ID) pys 4c

(8) S wolss Sl S ENSLSS SE&ELng/s 8 (7 M| 540y

Define an Algorithm and argue on its role and importance in problem solving.

(8) Describe Bus and Ring Topology. LA S S Ll S| 64U

(8) Whatis Cyber Crime? Explain its any three types.-u/./<>s (LIl U st S AL A T4y

¥
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Paper - | ( Objective Type ) Ist - A - Exam 2023 (Group | s ¥s) CAS»)
Time Allowed : 15 minutes SSC(Part-1I) w15 )
Maximum Marks : 10 Session (2020-22) to (2022-24) LMW %) 40 . ¥
@ Buop-t-n 3
LA 3020 a1 2 fef s D,C B, A:.gtz:,@yédlm-z‘éqn}md’dh-—ugéauwa oY
P zei S SIS ismie LT e Sl P e i bt
Note : Four possible choices A,B,C,D to each question are given, Which cholce is correct, fill that circle in front of that question
number. Use marker or pento fill the circles. Cutting or fllling two or more circles will result in zero mark in that question
- is a Graphical representation of an Algorithm : : & Al L1¥ ZJ ——
(A) Matrix /F (B) Graph .JI; (C) Solution 4 (D) Flow Chart ..‘uk:s (1)
It is not type of Test Data : s -4 (:' S e ¢ @
(A) Boundary Test Data  kSici/b3}y (B) Valid Test Data Gliciewn
(C) Complete Test Data &Ju‘»‘:'vj (D) Absent Test Data 125.":"??’:(3
) e Onde L —(A+B)s (A+C) R (3)
Expression (A+B)+«(A+C) is equal to -----
(A) A+(B+«C) (B)AsB+ A-C (C) A+(B-C) (D) A+(B+C)
Hard Disk is an example of ------- : ] & J& L %378 )
(A) Primary Memory dJ:‘.‘.’d/‘{ (B) RAM (% (C) Secondary Memfam ../,i%? (D) ROM ps/
:q_t'lgL_f.f:{-—-Jﬁ'fLTe./»/ QLT-QJ:‘ﬁ‘;.J’wJu (5)
Routing is a process of taking data from one dev'%% ending it to another device
in different ------- : @
(A) Channel J’:f (B) Network ﬁ% (C) Path 4’3 (D) Area /!
Hub is used in =--------- Topology @ - Gn Jwr &Jy et | (6)
(A) Bus Topology ‘;"’V‘JJ' tar Topology JJp.t
(C) Ring Topology (-2 D) Mesh Topology L;,)g‘}:‘
N L e EH I Gl B Lils| (7)
Which of the following does not include the type of Software Piracy
(A) Softlifting i (B) Liability (§shsmss
(C) Client Sever Overuse J.{mb;/&l‘ (D) Online Piracy ;,d:«gc/’uuf
Who is Hacker et o V% (8)
(A)Antivirus u‘}l:éé'l (B) Computer Expert £ /’}4'.{ (C) End User .J#§ZT (D) Protocol Jﬁ:{
eI LGk P F S rf ] 9
----Tag is used to Display Data in Tabular Form
(A) <td> (B) <table> (C) <tr> (D) <th>
gL/ Je e AL LL S S g2 HTML! (10
To save the HTML Page, we use ------- as File Extension
(A) HTML (B) HTM (C) XHTML (D) Both A and B
S S—
Vi




(2020-22)to (2022-24) ¥ |SSC(Part-1)| 25 -2 300 A
Computer Science ( Subjective ) Ist - A - Exam 2023 41, Wal V}x;{
40 /J 145 (Grouplg:/) (New %)

Setvme M Reno b SISz faliz LAz (4~ 4)Ldvpe i Adr st 340w < 20 GFlio § < la $
-+@/){,3{.Jlr.f£’{i: (o) /"'1] sl /:Ulr U‘){QO’L}L’? -’q’g
Note : It is compulsory to attempt any (4 -4) parts each from Q.No. 2, 3 and 4 while attempt any (02)
Questions from Part I1.Write same Question Number and its Part Number as given In the Question Paper.

(Part 1) el Ry 0 1~37

Describe Candid Solution. -q'{ug gf:‘”ﬁk! ) 2/:‘Ulr
Define the Flow Chart. -é..«y} J .:4/&)5 (ii)
Explain the importance of Testing. -é 5 laschil J ¥ (iii)
What is meant by Problem Analysis? TQ_JVk(c—eﬁ’LJ’/ (iv)
Why Hypertext is used ? St Lol e bi b
Describe the Body Section in a Web Page. 2k cf? UL L T 0D
Explain Volatile Memory with example. -2‘£ oAl Jo J d/)‘:JIEU” @ 3/./Ulr
Convert (1011), into Decimal Number System. -é‘li‘ﬂ et S (1011 )y (i)

S YU o q_wf(“’@ 1t S pnassia ity

Which Number System is used in our daily life an i’ base of that number

A\

system? @

Explain Logical NOT Operator. %5 sl § T NOT S22 Gv)

What is Copy Right Law ? @@ e | bl )

What is Sabotage ? % SV Bbecf o

What is meant by Hardwar ing ? Yq_;l/y' e £F 73y () 4/t
Write a short noteon Cl erver. -éfa Ly V/‘? 4 J;/L‘»flb’ (i)
Define the Ring Toplogy. -Ef;bg/’ J (].:’y'.f) (iif)
Explain IP Addressing. S eolo B4 TP v

te bl £ Lo/ Lo udf L HIML )
Which Tag is used for making table in HTML ?

Define the Anchor. -éu,i!} J /ﬁ-l (vi)

(Partll) pno

®) SPESL S e § Laph T 54N
How do you determine requirements for a Flowchart?

(8) Explain the Routing, -2}-(.:2&; J .y 6/:}()!:’

®) L K 2lalio s Sndis dhinige LS f ol 14y

Analyse the Personal Piracy and Security Concerns that arise with any use of

_________ ﬁrﬁ%ﬂ'"ﬁ'“’" —— %

0)|-03-2e227%

Computational System.
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Computer Science c L.K.No. 26 Paper Code No. 5836 YL VI o

Paper - | ( Objective Type) Ist - A - Exam 2023 | (Group Il s ¥s) (J)db:/“ ) |

Time Allowed : 15 minutes SSC (Part-1I) , 2 15
. " ( New x)

Maximum Marks : 10 Session ( 2020 - 22) to ( 2022 - 24 ) : 10

@ Bw(?~). ~27
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: AS

LA Y2UST ern T § 2Pt es D,C, B, Aciizsbp Ly 25 kdin S ezl c il

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question

-y

-b’xx;‘?w.rlzuﬁgﬂ .."—J:"J L/Q‘./b‘«( 54./4‘ g sl fl <) :/au'gt_,“f (F S e HyShine u:ﬂ;éi,)&lz

Note : Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle in front of that question

e e (W Usdnt Jo1 225 § o
The number system we use in our daily life is =e-e- :
(A) Decimal Number System (WiJj,*#! (B) Hexa Decimal Number System ("'/ /J‘d' Sk
(C) Octal Number System flﬁd’r T (D) Binary Number System (W&"

1)
1)

Pl K% gy S erte £ S U
Which Solution is not reached through proper Algorithm or work planning :
(A) Prepared Solution J’uh.l? (B) Candid Solution S ﬁa'(

(C) Strategized Solution u‘{d’ = (D) Best Solution Sy H

2

In a Flowchart <> symbol is used to indicate : : ‘;.J);:U; oAl e ..‘«A'ua
(A) Decision $ibdd (B) Input wg <©><?)
(O Output e iT (D) Progesh@(@

®)

Number'17' is equal to ---- in Binary System : W'x Lo 17 (“/ G
(A) 10000 (B) 10110 (C)~ 10067 (D) 10100

@

\}\/q_ gﬁ{ di J 513(]5 & Ju;fc_gﬂd}@/)
Which of the following is not a characté@c of good password : .

(A) Is Eight Character Long b oes not contains user name n:«ﬁ(f/}z
Jra Ty

st 28l T 2L

©)

WWW stands for : o : &« —iF WWW
(A) World Wide Web (B) World Wheel Web
(C) Wheather Wide Web (D) What Wide Web

(6)

The IPV4 Address is made up of ----- - Binary Bits : @ & e u}'d/"’& e 4 TPV
(A) 31 (B) 29 (O 32 (D) 30

?)

3 LI AL sl § SIS L T Ut alllepWies 75600/ & P!
CHR O v v T v :
(g5 S
" In Benazir Income Scheme you won a prize of " 75600 ". This type of message you
receive on your cell phone and ask you to call a number which type of this Cyber
Crime is : (A) Hacking & (B) Advance Fee Fraud 334/ sl
(C) Identity Theft (g =3l (D) Piracy (st

8)

Which Topology uses more Lengthy Cable : : 4 &n S b wsbie ot &:’y Jf
(A) BusTopology (#¢U* (B) Star Topology GJyt
(C) Ring Topology d:’y.{; (D) Mesh Topology J)yﬁ

©)

AL S FEE e GLLL S S gy g S
To save the Web Page, we use ------- as File Extension
(A) html (B) «doc (C) +xls (D) «ppt

(10)

--------- KEWSS—  f

4



(2020-22) to (2022-24) ¥ |SSC(Part-1)| 26 - 22 w20 A

Computer Science ( Subjective ) Ist - A - Exam 2023 (Fen g ’V/tf;r
40 /J 145 (GroupII-,,.«:/) (New £)

J'.:«Ulru:_g;f;,u:(».#.é.q_d)Utf{]’a&'ﬁ/:;zrlz! (4--8)L e 4 ﬁ?d’)’ s 3,-,“le ¢ ZAU"’ UTU,;_‘; ( A }
. . T h
i -:,a114,3441r.622£ s /Hz s Ay U"{Qb’d’ﬁ -é
Note : It is compulsory to attempt any (4 -4) parts each from Q.No. 2, 3 and 4 while attempt any (02)
Questions from Part Il.Write same Question Number and its Part Number as given in the Question Paper.

(Part 1) Jio]  Quipn 99

Make any two symbols of Flow Chart with names. & &AL (bl 051 Jf J .:dg,-ﬁ M 2 ﬁ‘Ul,—
Write a note on Efficiency of Algorithm. -.’:,'fd ) { u’zlﬂjb’ J r}/‘)ﬁ', (ii)
ke § ;ak)ﬁ SAS L&

Describe the importance of Flow Chart in Problem Solving,

Define Test Data. | -i—é{f’ J Eies Gv)
Write the basic text of Formatting Tags. -u_‘,'ll‘é EG ¥ 79..3:16 v)
Write a note on Head Section. -&J - d £ u"?},ﬁ (vi)
How Data is represented in Computer Memory ? . &;.t’n ¥ s e d,,.r‘}#{ G 3 /..»U,,,
Convert (110101111), to Hexadecimal. -z‘!di Sk S (110101111), ¢y

o O-at‘!u&: O/ U Ut sl s iy

Draw the Truth Table for Compound PropOit'@% &b J”;’,} 1L ﬁj{l{kfkf (iv)

What is meant by " Key of Software" in ?c‘:.:l/kr;. " /’:'.’..‘.«"VJTUC "k &}'3 W)
Sl S AT vy

. B S Soer £ S o 440y

jon with example, </ kAL JE S ‘f‘g&l{;&g (ii)

-EJALJe § 1Pva i

Differentiate between Storage and Memory.

What is meant by ONLINE PIRA

O
Describe the Network of Ne
Describe Point to Point

Define IPV4 with exa

Define URL. -2y § URL @)
Define Singular Tag. 'é-.é'f.’ J J/:& W)

iy W HTML 2L S S+ School ' 5 iy
Write the HTML Code to make word ' School ' Italic.

(Partll) P
®) -é{au:gjg,éu;&)di_bLndWI S L L Ao § L 5 )y

Explain the defining problem. Also write about three strategies to define a

problem.

@ » 06 o al el < BHU 6
What is meant by Bus Topology and how does it works ?

(8) Write a note on Ethical Issues related to Security. _c’:.’{‘a] { J,L«- JLWJ”.’ e 8,;? 7 /'.’U’f

062-0%3 - 2023 7



' : D " Paper Code No. 6837 "
c:ompgtor Science | | L.K.No.21 per. vt g )N‘-(
Paper - | { Objective T SSC - A - 2022 CAS ) )

o t )gc ol sl - (Groupl .r:f)l ¥4
Time Allowed 1. 18 minutes SSC (Part-1) ! w18 O
Maximum Marks © 10 - Session { 2020 - 22) to ( 2021 -23) ( New £) 10 - 4F

A e A e s AT . S e e e e e e a8 R e

)
\ Z./.)nr.;on’Qv/ PP 7 Y R sLér0.C B, A._,w,wg(.J'r/-.{G{QKJVJB»-W&--’:—U‘frV RO E
'; Pt zedi b a S TS Ml S d ot oL Lote S P f o e Sl i ;
! Note : Four possible choices A B, C.D to each question are given. Wblch choice is correct, fill that circle infront of that question :
: number. Use mrﬁw or pento fill the circles, Cumng or filling two or more clrcles will resuit In zero mark in um question : ’
] : ¥
:t | i ' q..t‘ﬂc( Sy va:, ul J" t/J'rE
:lhg process of solving difficult and complex problexm is called : g (1) s
:) Defining a Problem . A& (L] Pmlﬂcm Solving | t/J’JL- (A) E
1 Act it Out : .;37.>'.‘/f' (l)? Use Guesses s, ¥ E (© : s
Secondary Memory stores data je----- Co g._J/M"‘ ------- P d)/ du—c ,('2) :
Permanently J/(D) hmponnl\ e (() Expensive Q) (B) lmpo\rtant u’b €A) : 3
1024 Bytes is equal to --s-eeem- ' ; 5_»: p Sip— Vol 10242 3) :E
' ' 1 Mcga Byte @Al (B) 1 leo Byt @ :(..fl a :
R _ 1 Giga Byte LUJ (D) 1 Ter ’ 'U/'J © ; R
---------- 'helps to save time . é&ﬁg bt el J‘bﬁ U~ J g,( =3 —_i (4) !
Start . (D) Candid Solution' . /#3542 @alysxs ,.f (B) Prototype .«!) (A) '

f el R s AL (BHC) = (A B)+(A C) (5)
A(B+C) = (A-B)+(A-C)r r‘ --------- :

Associative Law J¥g76 (B) Distributive Law u.,...zsa,su (A) :

uiﬁ'/f'f (»D) Commutative Law .JJVU]G' )

' X nf’{..ui —-:---{f M ((dy J 5/)’;‘4&'

Good password should contain at least -----

Coductive

- -

(6)

§
t
-- characters long :

6 (D) 1209 8 (B) 4 ‘(A)

wu’JMJ e &L Sl o COUNTRY " xd u: HTML

Y
tag is used to underline the word " COUNT RY "

In HTML -----

<uwi> (D < uwi> (O <ul> (B)

<u>(A)

The IPV4 Address is made up of ----- Bmary B:ts 5 :q_.D. = g"djv’l., ..... ud, ;g ")V4 (8)

32 (D)_ 31 (c). 30 v(B)' 29 .(A)

c..{'ﬂdbfl df)}/ P/ ..J:L/J:‘J 2 é J).dl “ .(‘9)1'

Which of the following Protocol is used while sending and receiving email :

SMTP (D)_ sTP gﬂc) HTTP (B) FTP (A)

3

- (_Jw:rw J &/yuvg'mﬁd;z,m‘ (10} -
Which of the following mcludes in the types of Software Piracy '

Liability «  (ws (B) Soft Lifting Sy (A)
6 , Online Piracy oﬁ/tuuuf (D) Client Server Over use /(/::IJ:/JLV (C)

--------- AT BBy
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: j,mmc_.dlf_.¢(,wﬁ-¢J,LstL/,Ls; i are 4)&Jlr;.;qt4 A ot 340 « 240 o" J»w ( =t §
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Note : it is compulsory to attempt any (4 - 4) parts each from Q.No. 2,3 and 4 while attempt any (02)

Questions from Part Il.Write same Quesuon Number and its Part Number as given in the Question Paper
!

E:ZETZ » E( Part |)J:L47j Res /- Q/*u

- T o0 S L T e o T Wy
o R e =

S ' | A /J LS L Z/JIr,

Descnbc. the role of Algonthm in Problem Solving .

‘ ‘ Draw Flowchart to fmd the Volume of Cube. . - ol uAnG ¥ L/(J"‘ (? ¥ .A[ (ii)
l: What is. meant by Divide and Conquer Rule - | ?q..:l/ Vedr £ :/(': al ;f(:'ﬂ RUU
, , : Sl e Jhibt £ plim )
|'| Wha\ do you mean by the Base or Radix of a Number System? 7 _,
) I" Conveyt (1000001)2'in’to Decimal Numbg& S&ster'n. -2§J g@‘l f (10()0001)2 (v)
How is Data rgpx'esc.xltcd in Computer ? %@ Mf/lbér P I i)
! What is stmbumg Law 2’ %{& S‘c..t'nu:_ﬂw\_)yu (n) 3/J’r

' Prove that : 3 . AB.C = %5@ : éu? (ii)
' £ b J’IM ¥ /JTAND c'_l. ol Sy iii)

or two Vanab]es

n ? Write names, 4drt b u"(L:‘l(f( J U‘ﬁ’ (iv) -

Make a Truth Table of AND O

How many types are of Co

e e — i, i - - " - - -

Write one advantage of Topology. — -.{:{f ub.fuj/ ¥ &}yu’ v)

Define Physical Layer. + . ~ -Z:..d/' J /JJ{’/‘ vi) -

What is meant by Copy Right ? Seilry < u,q( (i 4,1):,»
Fxplain Fraud and Misuse. . el § U kPG

Write HTML Code to break the. line. _ by ?;.J@de.._fgéu & HIML Gii |

Define Hypertext , ‘ ~ L F OO : -2{4/"'. J | Jwg/f& (ivl)

Why "OL" tag is used ? ' 7 .?:‘._ngt"’lu{ J "OL" (v) y
Differentiate between Hyperlink and Anchor . ' fq.d)k@i F ..ﬁ;'& '(vi) ‘
Mo=2x8] .( Part n)(».»J

(8) kxplain any four types of Test Data. E éf-élmJ rul s Jd/ S e 54y

—
oc
—

-i.)b:J rVIJ c..dJ(L ("’u’&;f éJ/’ J(”u"a/ 6/Jty

Define.Conuqunicaﬁon System. Explain any three components of Communication

System.

-éuy ._,ufu i ‘)...\_ss._L.» ¢ el @a NE 1) 7,-1}:,

What is Phishing Attack ? Describe three characteristics of Phishing email.
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i Note : Four possible choices. A.B,C,D 10 each question are given. Which choice Is corract, fill that circle in front of that question . ‘4
E number. Use marker or yén to fill the circles. Cutting or filling two or more circles will result in zero mark In that question _ {
\ 4 : ,

i

= )Lv’ J Urs Jf rlﬁldwdzl«/l i I/Jlr

{Number of Digits in Decimal Number System is :

; 6 (D 10 © 8 ® 2 (A) L@
‘ The <> symbol in a Flowchart represents : f c;dm}b:’! u’ ulb:s =l O 2
- S Openmg JW (D) Deusmn Makmg JA/,JA’ (.) Output -.Juf (B) Input b;u! (A) ‘{ ‘
: gl e L 4./& /e .,Aaﬁ; (3)

olve a problem
sraphical u'/)" (a)
: ,rw/uvf (1110000)2 ;.«J

Convert thc Binary Number (1110000 )2 into % k 7
08).10 (B) (222 )10 (A

(112)16 (D) (112)4
/uw _,w’ &7 J /,_,Jv u:‘é.w& »/J’u

Flowchart is A omreeeress reprcsentatlon of the steps to be followe

*
i
]
H
!
3
e
x
1

f
!

]

) -

I‘
i
x
i

(5) .

.-l
1
A
B
{
|
T
A
4
|
A
1
]
L]
a
i
ia£
q
!
1
4
!
I
1
tware than you have licence for is cailed : i
i

)
1
{
J

.%
i

Installing more copies of lhe ,
Hard Disk Loadin 3 L5544 (B) Client Server Over: Use  ipminsusif (A) |

| Ontine pimy AT 0) Comerfeing | $nF@ |

:“” i§ @ emmomeseenes tag :. ‘ - : c;.uﬁ ----- ._ﬁ<P>x (6) 2

. §

Ending fyl (D) Singular );’ (C) Closing \.fu’/ (B) Opemng .ful (A)
(_WM Z,f 4’& s Lt bl | o z w-‘/gd/ @

is used to check whether a preposition is true or not :

- JLE1 (B) ‘Gate Table JoL )
4l (D) Gate Log  Jied (©
“5 c.t:rt‘}//.a.-/ ~---fc_/ ,J,JL _[ @)
® 7 (A) ,
q_bndbv’l J)?u VUJ(.—ULJ:IJ;L(.,},I ' (9)

Logic Table

Truth T.—ible

...... charactets long :

A Password contains at least
10 (D) 9 (C)A 8

Which of the following Protocol is used while Browsing Internet
(D)  SMTP (c) HTIP ) (B) FTP (A)

u':flu C‘J c.../»L/J’ y e;.mf ...... ,C;J‘ﬂ, "ff (10)

B} Clicking on Special Text called ---——- which bring you to the next page
Jﬂ} (D) Hyperlink '-ﬁ/"f (C) Tag J B Anchor ﬁl @

_________ ﬁ**ﬁ*_"-_-‘--- e v

1 SIpP

Hypertext

R e e Tk T L R R e L e
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. o

24=2x12 | (Partl)dﬂ,ﬁj Q,UUPC,DJL')_\_ - e

[
. ..,x'ru...._JJc._\,m" .J’..V-c % '5/. f.:.ty

r:T:?:T?'Z}---LA_----_--__-_-ﬂ':fzw- ....... R N ——
: Whal is Prototype? e ¢ .../ / ‘»’d’{ M Z/J"’ i
Lk S (999); G

, Convert (999 )]0 into Hexadecimal Number System -éJy o (//'
v | "c.:/l/c.u ;!.‘,.ff(iii)_
o) § Rk v

' What is meant by Act It Out?

: Define Validation. ‘ '

' |-

| Define Binary Number System. . -e:f...g/’J,'wdef )
-’4?‘(1" rl;"ll d///‘gf (vi)

e ——
- :
- e
-
P —

Write down the names of types of Computer Memory.

E A 5 36aT # YA J/Jff

g Define Lot,lcal Operators. - A ' @ Z }J J/// UK’U (ii) .

y By Truth Table prove : : A«B =B OA%% B c,’;.:/.hf'ﬂ/,yu, iy

? What is Network Protocol ? ‘ » @% fe bt Lf Jﬁi{hﬁ:w (iv) .

’ What is the major disadvanta‘gc of Star To | ?.:.ufutﬁwa—« ¥ J:’UAL v

“onnection. ZJJ&JJ[JU’EKJUI‘J’) fvi)
| ".:.J/yfr_" u//:u’(/ " u"udjt i 420y

?q_.;/tfc.- Lﬂ/&dﬂd' (i)

State Identity Law.

n Piracy ?

U SO
T e —
S ——
v i

What is meant by " S

What is meant by Onli
JJ./K‘.—))/KJ’JU:C L c.d;.q,(m)
Write HTML Code to apply background Color of Webpage. :
What is meant by Mark Up Language” %’.)‘/J = 5;0.,!\/ L (v
tpe AEou » £ sy HTML )

Which are two basic parts of HTML I"’age7

?QQ/.L)";J <p>sl <br> ) '

1
i
1
1
i
i
)
1)
)
¥
i
1
i
]
)
t
1
!
i
!
1)
[}
1l
!
'

. What 1s the dltrermce between < br> and <p> lag ?
i

16= 28 o [(Partil) (12}
I {(Partil) (2|

‘ | :‘:J/uthbdbaﬂdwliﬂa_/&@ ' (‘,U' 5,41 |

1 (8) =2 x4
d in formulation of an Algorithm.

Discuss four notations use
| I K Juhmw ol GHpdy 6/

: |
) F
! I
: l
! ]
8 i
4 1]
! )
| l
; i
; ]
' i
1 (8) =4+4. |
l ¥
'
; Write a note on ng 'Iopology and Mesh Topology E
; }
: !
: l
- 1
| ;
' 3\
3

‘{,/,,M JLdwi s a,J/ u"’{.d,;c 7/Ju,«

Write down any four Ethical Issues related to Security in detail.
| ol Ao

L . 5%
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Four possible choices A,B,C,D to each question are given. Which choice is correct, fill that circle In front of that question

number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question

Planning 4.5 (D) Un-understand

In a Flowchart, Rectangle [] symbol represents :

Hexadecimal System has total numbers

Primarily there are

types of Memory

15 (D) 18 (©)

Before Problem Solving , we need to  first -—— a problem

et/ — Mo i JF S s’ 1/-"'-)"’;
tft (C) Define u-"’- (B) Analysis ,f (A.)‘ " (1)
e {1 k| @

Connector ;253 55 (D) Processing Lesy (C) Decision il-lsd (B) Input/Output welsT /gl (A)

16

G Zri i e S 2 plis S 15K (3)

(B) 17 (A) «O@

: @:_ S g 4 S
)

@)

The

< hy> (D) < hg>

3 M 4 (© 1 (a)
The Receiver must be capable of accepting the —%@ Doetm J6 LS P o iy (5)
Information  =ls* (D) Address @ C) Message (b (B) Protocol Jﬁ:{ (A)

T—CP/IPmodel has © D r iR ——§ Ui TCP /1P (6)
4 (@ 3 (B 2 (A

-——— is a serious attack on a Computer System e s A {(L"},_-:.f —_—i 7

Patent 2% (D) Cyber Crime f”lf/.’lr (C) Sabotage bz f (B) Trade Secret LS (A)

is an amazing tool for Communication : e s kﬁ-b/-’ I A VP — (8)
Phishing % (D) Internet w2# (C) Hacking _G_C: (B) Software il (A).
The HTML Document begins with the Tag —=—- & tn Uf e B —mem o1 HTML L9 |
<title> (D) < html> (C) <body> (B) < head > (A) '
o ” el Lol £ (il e B bl = b iz (10)

Which of the following Tag is used for the most important Heading

©

<hy > (B) < hy 5 (A)

- -

-

Scanned with CamScanner

e




(Group 1 f) SSC(Part-1) | 19 - a0
Computer Science (Subjective) |NEW (ALP) |sscC - A -2021 | (£
(2017-19) 10 @020 22) o 0: A | s S
Selirme de b ity foyn Lz (4 8) Ldvgei Adv o 3707 ¢ 2w P & =W p

Lt a ol A SR -EE
-q—@/’{-—:{‘é"’f‘zébﬂ sh7 A UJ{Q‘) mpt any (02)

uestion Paper.

Note : It is compulsory to attompt any (4-4) parts cach from Q.No.2, 3 and 4 whilo ato
Questions from Part ilWrite same Question Numbor and Its Part Number as given In the Q

-

L T RS o 1A
Define an Algorithm, ) Al o 2/
. j/ (i)
What is meant by Candid Solution? S oy V= g p
s ey Iy, e A0 i)
| What is the use of GOTO Notation in an Algorilhm??.gdndt-"LL/ v-4 (GOTO) v ({
o S ¥ g S

What is the role of an Algorithm in Problem Solving?
-z'r./f K3/l ¥ LW B¢ 72 V)

Write the procedure to create Hyperlink to Image.

— ) . V L .
< Define HTML. _zfy/ § HTML () "
S s e @y 320y

l?‘ Define Binary Number System. &y J (’;JU(/!' @) 374

s .
What is meant by Computer Memory? e d/ff/&{ )

s,
- @@ e ,;jw:}j, (iii)

What is Boolean Algebra?
% Ut G ksl (i)

% ?%.)l/l:( e Sl J &3

. <
What is meant by Data Privacy? g@

What is meant by " Key of Software" in Pirac

What are Truth Values?

Seslpe ST AL i)
-2k (¥y¥ RIJET o o S gaaS ) 4/.Ulr

Describe the function of Sender j Communication.

What is File Sharing? \ e L2860 aiy
T Define Transmission Me 4 -éu.‘/’ g ﬂi;‘u”‘-’{} (i)
[
E | What is Hypertext Transfer Protocol (HTTP )? g Y dﬁ{ﬂ/‘.‘ygﬁ'}( HTTP) (iv)
L'? How we add Heading and Sub - Heading in HTML? ‘U_?L(Jd_: Fhtor s Eht 2 HTML (v)
lLJ Which Software is used to create a Webpage ? bl Lk om ﬁ;.:)lrt/ T D
g 16= 2x8 ( Part it) fsr2

(8) Explain the formulation of an Algerithm. ..Ef;-:)L'u J J.'.w J (”,,F; 5 )-:U[,

(8) _st‘«;d'-‘“{:«/’/"(!(jl i é_&l} J J’\k"}&"y{ 6f.;dlr
i Define Computer Network and write its importance in detail.

®) e JPOILH S 2 Eaf S Camein 740

Define Software Piragy. Also explain its any three types in detail.
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1
A well defined problem is the one that does not contain e G S 2 B L1y 1
Picture ¥ (D) Ambiguities (fbé (C) Validation 2iks (B) Error ¢ () (1) i
Before jumping into the solution of the problem, it is important to : @ <! J ‘g.du/#;r_—i_)v' & (2 }
Define a Problem ZbWYu2ks (B) Understand a problem 2 bW (A) !
e ., O oy _ f—"'_'*ﬁ vii£1 (D) Draw a picture 2 bdts” (O 3
The Base of Binary Number System is S c".;_v Jrlbfdu;é;f (3) %
08 (D) 02 (O 10 (B) 16 (A) !
1 Petabyte is equal to ; e dretyenl (;) E
- b TB (D) 102¢ GB (C) 1024 MB (B) ® (A) i
: {—t‘ﬂJb”'@- U 3 c—ﬁuﬁu’( —i (5) l:
A is used to transfer data from one point to another @O% :.
'
Receiver vt ) 192 Message (s / g W l:
R Corpmunication System 4 (D) Protocol Jﬁ;{ © ‘:
L AP e bl L 2 Sre Sy ki — (6) '
Protocol is a Standard Pr o Transmit E - mails E
1
DHCPL(D) sMIP (C) FIP (B) ‘HITE (A) :l
Making Illegal Copies of Software is called erel SuJFYIs § Aol (D) 'i
Piracy (74 (D) Identity Theft Gzt (C)-Phishing Crime A/ (B) Hacking L (A) \
A 2 b Ses LS | T (8) |
Some Software Companies sell Software with a Confidential Text, called the :
Description & (D) Key of that Software &Jﬁ:.‘)’b (C) -Encryption $KP (B) Passwordm 5/’gf.tl; (A) 4 |
Head Section ends with -— tag : ctn 2B = 4 —jg;.'f
< .head > (D) </html> (C < head > (B) < / head > (A)
There are —— types of Tags in an HTML Document ULn 553 Zu) e 15 HTML
5 o 4 (O 3 B 2 (A
i
' I <
L

‘.‘
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Note : It is compulsory to attempt any (4 -4) parts each from Q.No. 2, 3 and 4 while attempt any (02)
Questions from Part [L.Write same Question Number and Its Part Number as given In the Question Paper.

Eescribe Act In Out Technique. 2ok J{'—'a;u‘ajruls-‘;-' 0} 2/;;le'
What is meant by Identification and Correction of Errors? ?;.;yt{ e 0 »l SE® d/ LIt (ii)
What is Candid Solution? | fe y’ J.:l’}i;( (iii)
Define An Algorithm. -éuy_y} J r;;:m (iv)
What is meant by Hypertext ? Yg:.)!/l[ = -.‘/?;'y )

tep o e FESN £ Bocs U HIML (i)
What is meant by Body Section of a Web Page in HTML?

What is Truth Value?

Define the ASCII Code. 0@

| What is meant by Boolean Preposition ? , ?ii < w‘di‘;"{cﬁ-{'.' W 3
@ Tlg. ([ {E‘w’-:/‘ (i)

<& %
-2y 3 asca i
Define Decimal Number System. EEf g (WSS 241 (iv)

Define the Sabotage. @ﬁ -2"-:...9!/"" g djb’.,gf W)

What is meant by Copy Right ? @ Sl o LA (vi)
What is File Sharing? e U XU 6) 4
Write the names of Compo Communication System. ..é.‘f?'t Zan L ("'/u’-"c)! (ii)
Define Transmission Medium; AT ﬂ.‘yu’-"l{/’ (iii)
What is FTP (File Transfer Prot;)col)? fe_/ (FTP) dﬁ,{)ﬁu;,ﬂ (iv)
Define HTML. Z/ § HTML (v)
, What is meant by Hyperlink? felpy = J)ﬂ (vi)
(Partll) (5.
®) e ¥ e of $0A e e yf 2 54

Define Flowchart. Also describe the use of any three symbols of Flowchart.

-

® I Se Byudens § neotnd 60

Why a Computer Network is needed/ established ? Describe in detail.

(8) Write a note on types of Software Piracy. -é;!d Orps] J & Al 7 Al

o ol
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